
Answer on Question#39942 – Math - Geometry 

Question. 

Find the angles that the diagonal of a rectangular parallelepiped 2 in. by 3 in. by 4 in. makes 

with the faces. 

Solution: 

a) We have 

tan 𝛼 =
2

𝑥
, 

tan 𝛼 =
2

√32 + 42
=

2

5
, 

𝛼 = tan−1 (
2

5
) ≈ 0.38051 (𝑟𝑎𝑑𝑖𝑎𝑛𝑠) 

 

b) We have 

tan 𝛽 =
3

𝑦
, 

tan 𝛽 =
3

√22 + 42
=

3

√20
=

3

2√5
, 

𝛽 = tan−1 (
3

2√5
) ≈  0.59087(𝑟𝑎𝑑𝑖𝑎𝑛𝑠) 
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c) We have 

tan 𝛾 =
4

𝑦
, 

tan 𝛾 =
4

√22 + 32
=

4

√13
, 

𝛾 = tan−1 (
4

√13
) ≈ 0.83722 (𝑟𝑎𝑑𝑖𝑎𝑛𝑠) 

 

Answer: 

𝛼 ≈ 0.38051 (𝑟𝑎𝑑𝑖𝑎𝑛𝑠) 

𝛽 ≈  0.59087(𝑟𝑎𝑑𝑖𝑎𝑛𝑠) 

𝛾 ≈ 0.83722 (𝑟𝑎𝑑𝑖𝑎𝑛𝑠) 
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